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Topic :-SEQUENCES AND SERIES

1. The sum of

(x+2)" T+ (x+2)"2(x + 1) + (x +2)" 3(x + 1)? +.. + (x + 1) lis equal to
a)(x+2)" 2 —(x+1)" b) (x +2)" ! — (x + 1)*!
Ax+2)"—(x+ 1" d) None of these

. . . . 1 1,
2. Ifab,carein GP and x,y are arithmetic mean of a,b and b,c respectively, then =t 5 1s
equal to

2 3 b b
a)z b); ) 3 d)E

3. The sum of 24 terms of the following series \E + \B + \/ﬁ + \/37 +..1is
a) 300 b) 200~/2 ) 300~/2 d)250~/2

4. The sum of the series 13 + 23 + 33 +... + 153is

2) 22000 b) 10000 ¢) 14400 d)15000
5. The value of a'®®*, where a = 0.2, b = /5,
X=7+3+ 1+

a)1 b)2 A 1/2 d)4

6. If the sum of first n natural numbers is 1/5 times the sum of their squares, then the
value of n is

a)5 b)6 c)7 d)8

7 Th fseries 1 4 — 4+ —— 4 1 -
. esumotseries 1+ — + 1+, t..®IS
e+1 e—1 e+1 e—1

a) 2\/5 b) 2\/5 C) \/E d) \/E
8. The sum of the squares of three distinct real numbers which are in G.P. is S2If their sumis a S,
then

a)l<a?<3 b);<a?<3 l<a<3 ds<a<l

PRERNA EDUCATION https://prernaeducation.co.in 011-41659551 | 9312712114



4 7 10 )
9. 1+§+§+§+...toools

16 11 35 7
a) 35 b)g c) Te d)E
10. Ifa,b,c are in H.P,, then the value on i Z Z t Z is
a)1l b)2 c)3 d) None of these

11. The sum of the series (1 4+ 2) + (1 + 2 +22) + (1 + 2 + 22 + 23) +..upto n terms is
a)2"2_n—4 b)2(2"—1) —n 2"l _n d)2ntt —1

.3 3.5 3.5.7
12. The sum of the series 28 2812 T 281216

SN ONEEE 93 RS

13. The value of 1 —log2 + (10‘;2)2 — (1022)3 +...1s

a)log3 b)log 2 c)% d)None of these

14. Ifthe ratio of the sum of n term of two AP’s be (7n + 1):(4n + 27), then the ratio of their 11th
term will be
a)2:3 b)3:4 c)4:3 d)5:6

15. The value of 2.357 is

2355 2355 2355

) 599 b) 7500 ) d)None of these
1+2 14243 1+2+3+4
16. The value of 1 + ; + +3,+ +— :, s
3 4
a)e b)2e )5 A=

17. Sum of first n terms in the series cot ™13 + cot™'7 + cot 113 + cot™! 21 + ... is given by

—1 n —1(n+2
c)tan~!(n+1) — tan11 d) All of these

18. Maximum value of n for which 3”141 > »7 (n + %) is

a) 4 b)5 )6 d)7

19. If x18 = y21 = 228 then 3,3log, x, 3 log,y, 7 log, z are in
a) A.P. b) G.P. c) H.P. d) None of these

20. If, for 0 < x < /2,y = exp[(sin® x + sin*x + sin®x + ...00)log, 2 ] is a zero of the quadratic

sinx + cosx |,

equation x> —9x + 8 = 0, then the value of is

sinx — cosx’

a)o b)2 + \3 c)2— \3 d) None of these
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